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Multiplication 

 

Answer the following questions: 

1. Fill in the blanks: 

a) 69 X  50 = 50  X   b) 240 X  73  =  73 X   

c) 142  X               = 40  X  142 d) 5353  X  155  =   

e)               X  2255  =   2255 f)              X  615  =  000 

 

2. Tick (✓) the correct option: 

 

a) 2091 X 0 equals : 

i) 2091 ii) 0 

iii) 1 iv) 2000 
 

b) 2 x 6 is equal to : 

i) 6 x 2 ii) 2 x 6  

iii) 12 ÷ 6 iv)  6 ÷ 2 
 

c) 91 X 1 equals : 

i) 91 ii) 92 

iii) 90 iv) 1 
 

d) The answer to multiplication problem is called : 

i) Sum  ii) Difference 

iii) Product iv) Quotient  
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